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( INSTRUCTIONS |

(Please read carefully and comply)

Kindly read the complete set of instructions carefully and also see the instructions on the
back side of the OMR Answer Sheet and fill the details in the OMR Answer Sheet and
Question Booklet.

One paragraph each in Hindi and English is given in page 1. Copying of the paragraph

anguage as filled in
and is compulsor
in tl&

on Booklet.

in the space provided in the OMR Answer Sheet (i

the application form either in Hindi or English) in yo
DO NOT USE BLOCK LETTERS.

(@) Question Booklet Serial No. must clearly be wr
the space provided in the OMR Ans

(b) OMR Sheet No. should be written i

eals It is the
<let contains 150

After being instructed to open th
responsibility of the candid
questions and start the papg

The question paper compr ! G Avai ngruent versions of English,
Hindi, Urdu, Punjabi, Gu

languages. In case of any d¢ Yversion shall prevail.

All questions are of Objective typ orrect answer to each question carrying
one mark. There will be negative®

1/3 mark will be deducted.

rong answers. For every wrong answer,

In the event of any mistake in any quesfion/s, candidates will not be penalized. However no

corrections will be made in qu‘esltion/ s during the examination.
3

You must use Blue or Blgﬁkf?all point pen only for answering. Altering of answers once
entered is not pernussiblﬂ Z’nter the answers in the Answer Sheet carefully.

Rough work, if’ aﬁy may be done in the Question Booklet only in the space provided at the
end of the Booklet. No additional paper shall be provided.

Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other

electronic item/instrument, etc. is not allowed. Their use will result in disqualification.

No candidate should leave the examination hall before the final bell. The Answer Sheet as
well as the Top Sheet of the Question Booklet should be handed over together to the invigilator
before leaving the Examination Hall.
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SECTION - I
ENGLISH
1. One of the following doesn’t constitute a basic structure of the constitution -
(A) Republic form of Government
(B)  Supremacy of the Constitution
(C) Law making procedure in the Parliament
(D) Federal character of the Indian Polity
2. Who is the present Chief Minister of Haryana ?
(A) Bhupinder Singh Hooda (B) Captain 4
(C) Manohar Lal Khattar (D) None g
3. The primary job of the operating system of a ompute
(A) command resources
(C) provide utilities
4. The process of converting analog sj @be processed by
a receiving computer is referre
(A) modulation (B) D) digitising
5. Multiprogramming was
(A) input/output units
(B) operating systems
(C) both (A) and (B)
(D) neither (A)nor (B)
6.  The dance form “Garaba” is from e following states ?
(A) Rajasthan (B) Mahara (C) Kashmir (D) Gujarat
7.  Semaphores are used to :;oivgr b'e problem of :
(A)  mutual exclusion * a ] (B) process synchronization
(C) 'both (A) and (B) ,;., y (D) none of the above
8. The drag—aﬂd‘.f thod of copying or moving data in MS Excel :
(A) Can be used between worksheets but not on workbooks
(B) Can be used between worksheets
(C) Can be used between workbooks
(D) Beth (B) and (C)
9. The Prime Minister of India, Narendra Modj, represents which seat in Lok Sabha ?
(A) Vadodara (B) Ahmedabad (C) Varanasi (D) Maninagar

TSD002414
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In C language, printf( ), the appearance of the output can be affected by :
(A) field width (B) conversion character
(C) ~Hag..: (D) all of the above

The loss in signal power as light travels down the fiber is called :
(A) attenuation (B) propagation (C) scattering (D) interruption

If diameter of a circle increases by 30%, by what percent will the area of the circle increase ? Q

(A) 30% (B) 69% (C) 90% (D) 138% a

Shahjahan

Internet, initially started as :
(A) TCP/IP experiment
(B) Network for the defence forces of America
(C) Group of research scientists of Bell La

(D) Contribution was done by all the a

Who was the ruler of India when
(A) Aurangzeb (B) Ak

The Saka era began in th
(A) . 58BC

In C language, the single ch Hons are :
(A) scanf () and printf () ; ) and printf ()
(C) scanf ()and putchar () ar () and putchar ()

Cookies are used to do which of th ,
(A)  Store your ID and password fo sequent logons to the site
(B)  Store contents of electronic shopping carts

(C)  To track web activity

(D) " All of the above

y

The process of arrangin ata in alphabetical or numerical order is called
(A) Sorting " (B) Searching (C) Traversal (D) Merging

By selling a towel for ¥ 126.90, a draper loses 6%. For how much should he sell the towel to
gain 4% ?
(A) W (B) < 140.40 () 314505 | (D) X 160

In Binary Algebra, A+ B can be implemented by :
(A) NAND gates alone (B) NOR gates alone
(C) AND gates alone (D) Both (A) and (B)

TSD002414
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21.  The product of three consecutive numbers is always divisible by :
(A) 4 (B) 6 © 8 D) 5

22.  In SQL, which of the following is not a Data Manipulation Language Command ?
(A) Delete (B) Select (C) Update (D) Create

23. In Clanguage, the “break” statement is used to exit from

(A) ado loop (B) a for loop
(C) a switch statement (D) all of the above ’
24. Cis:
(A) an assembly language (B) a third ¢ pl languag
(C) a machine language (D)
25.  Which country is the current winner of the ' ket@@ha nship ?
(A) Sri Lanka (B) India istan

26. System Implementation Phase in System An
(A) System check outs
(C) Paraliel runs

27. If 9x+101y=299 and 1 :

(A) x=1,y=2 (B) (D) x=2,y=1
ri-Chaura incident was :
ule Movement
Disobedience Movement

28. The movement that came to a
(A) Quit India Movement
(C) Non-Cooperation Moveme

29. Who is the present Foreign Minister ¢
(A) Rajnath Singh (B) Arun Jaitl (C) Narendra Modi (D) Sushma Swaraj
30. Applications software : |
(A) is used to control theic
(B) includes programs(
(C) performs a speci
(D) all of the above

rating system
ned to help programmers
k for computer users

31. Paging :
(A) is a method of memory allocation by which the program is subdivided into equal
portions, or pages and core is subdivided into equal portions or blocks.
(B)  consists of those addresses that may be generated by a processor during execution of a
computation.
(C) is a method of allocating processor time.
(D) allows multiple programs to reside in separate areas of core at the time.

TSD002414
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In SQL, which command is used to change data in a table ?
(A) Update (B) Insert (C) Browse (D) Append

What is the product of all the numbers in the dial of a telephone ?
(A) 1,58,480 (B) 1,59,450 (©) 1,59,480 (D) None of these

A compiler is :
(A) a program that places programs into memory and prepares them for execution.
(B) a program that automates the translation of assembly ]
(C) program that accepts a program written in a hig

object program.
(D) is a program that appears to execute a source pre

} normaily certifies a site on the i
(A) CRISIL (B) CRA the above
National Securities Depository li

(A) Bearer Bonds
(C) Shares in electronic f

(@) The size of organizati s massive
(b) Timely decisions are to ilable data

(c) Computers are available
(d) Difficult to get clerks to pr

(A) (b) and (c) (B) (a)an . ) (a) and (d) (D) (c) and (d)

Find the missing number :
2, 10, 30, 68, .......... i
(A) 130 (B). 140 Q) 142 (D) 138

Which of the foua advantage of using fiber optics data transmission ?
(A) resistance to data theft
(B) fast data transmission rate

(C) low noise level and few transmission errors
(D) all of the above ¥

RAM is used as a short memory because it :

(A) isvolatile (B) is very expensive
(C) has small capacity (D) is programmable

‘TSD002414



18 AX

41.  The basic goal of software engineering is to
(A) produce high quality software at low cost
(B) modify programs
(C) design systems and logic
(D)  produce high quality software irrespective of cost

42. Select the smallest memory size. ‘
(A) Terabyte (B) Gigabyte (C) Kilobyte

43. In each of the following questions the two words given
bear a certain relationship. The other side shows a
word which bears a similar relationship with the giveX
the options (A) (B) (C) (D).

Raipur : Chhattisgarh : : _? : Uttaranchal

(A) Nainital (B) Ranchi

(D) Megabyte
double colon i. o

pal.- ..,

44. Who acted as the Chairman of the
(A) Dr. B. R. Ambedkar
(C) Dr. Rajendra Prasad

Assembly ?

45. Find the odd one from th =
(A) Kidney (B) (D) Lung
46. In C++, a function contained
(A) a member function
(C) a class function

in 10 days. B and C together can do it in 12 days,
in 15 days. C alone can complete it in :

(C) 30 days (D) 20 days

47. A and B together can do a piece
while A and C together canido

(A) 50 days

48. 25 buses are Agpur to Pune and back. In how many ways can a passenger

travel from N Ny one bus, to Pune but return to Nagpur by a different bus.
(A) 50 (B) 49
(C) 600 (D) None of the above

49. What does the acronym (ISDN) stand for ?
(A) Integrated Services Digital Network
(B) Intelligent Standard Digital Network
(C) Indian Services Digital Network
(D) Integrated Services Data Network

TSD002414
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Which country has won the Gold medal in Men’s Hockey in recently concluded Asian
Games ? ;
(A) Pakistan (B) India (C) South Korea (D) Malaysia

Modularity in Software Engineering :

(A) is a feature of all programming languages

(B) helps make large programs more understandable
(C) both (A) and (B)

(D) nor (A) or (B)

In a group of 6 boys and 4 girls, four children are to be se
can they be selected such that at least one boy should

(A) 159 (B) 209 () 31

any different wa o

None of

\
(4
3 90

ilm this year ?

Encryption is being used primarily with :
(A) transaction entry
(C) * file retention

Data integrity refers to :
(A) the privacy of data
(C) the validity of data

Which film has won the N
(A) Bhag Milkha Bhag
(C) TJolly LLB ng

d and unsorted sublists.
(C) insertion (D) all of the above

The sort divides the arra
(A) selection (B) bubble

Which is true of constructors m]AVA ?
(A) They have the same na e as the class and have no return type.
(B) They can take a paré r that is of the same class type.

(C) If no constructor'is
(D) Al of me;a,: S

SR

ined for a class, the compiler supplies a default constructor.
The simultaneous transmission of data to a number of stations is known as :

(A) Broadcast (B) Band width (C) Aloha (D) Analog transmission
Which command brings you to the first slide in your PowerPoint presentation ?

(A) Next Slide button (B) PAGE UP

(C) CTRL+HOME (D) CTRL+END

TSD002414
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60. Which are the tools not used for System Analysis ?

(A) System - test data (B) Decision table
(C) Data Flow Diagram (D) Flow charts
61. A (n) search begins the search with the first array element.
(A) serial (B) random (C) parallel (D) binary

62. A computer program that converts assembly language to machine language is

(A) Compiler (B) Interpreter (C) Assemble D) Comparator ’ ‘
refusing to are :

\ ¢
3C

63. Name the boxer who was banned by International Boxi
the medal during Asian Games 2014 ?
(A) M. C. Mary Kom (B)
(C) Sarjubala Devi (D)

64. If TAP is coded as SZO, then how is FREE
(A) EQDFYG (B) ESDFYF

65. Find the missing letters.
AZ, BY, CX, DW, ........
(A) EU )

66. Subclass in JAVA is also ca
(A) base class (B)

0
- 40
derived class (D) both (B) and (C)

est ?
Shell sort (D) Bubble sort

67. Which of the following $orting p
(A) Quick sort (B) Heap

3 1
68. The missing figure in the question — X &'X — = — ig:
6Bt g Q{q 9 15 18
(A) 6 (B) S € 4 D) 3

69. The four icons used in buils
(A) Flow, Source, Stofe :

B) Flow, Process, Sotirce and Store

C) Flow, Process, Source/Destination and Store

D) Source, Process, Destination and Store

70. The linker :
(A) is the same as the loader
B) is required to create a load module
C) uses source code as input
D) is always used before programs are executed

(
(
(

TSD002414
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ERP stands for :
(A) Enterprise Resolution Planning  (B) Enterprise Reverse Planning
(C) Enterprise Resource Planning (D) None of the above

Which one of the following is the largest single source of the Government’s earning from tax
revenue ?

(A) Central Excise (B) Income Tax (C) Customs Duty (D) Corporation Tax

You can delete text in MS Word by :

(A) selecting the text and pressing the CTRL key
(B) selecting the text and pressing the DELETE key
(C) selecting the text and pressing the ALT + PA
(D) selecting the text and pressing the ESC key

Which of the following is not an operati
(A) DOS (B) Oracle

e cost more than the chair,

4 5({‘0 (D) X 600
héﬁ@haviour

e above

The price of a table and chair is
then cost of two chairs is :

(A) T 250

Fifth generation comput
(A) artificial intelligence
(C) advanced parallel pro

A man rows 750 m in 675 secon stream and returns in 450 seconds. His rowing

speed in still water is :
(A) 3 km/hr (B) (C) 5 km/hr (D) 6 km/hr
Who is the present Chief M g
(A) Anandiben Pateld (B) Keshubhai Patel
(C) CililShak. Y (D) None of the above

4
The OCR stands for :
(A) Outsized Character Reader (B) Optical Character Recognition
(C) Operational Character Reader (D) Only Character Reader

A flip-flop can store :
(A) One bit of data (B) Two bits of data
(C) Three bits of data (D) Any number of bits of data

TSD002414
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The correct matching for the following pairs is :

(a) DMA 1/O (i)  High speed RAM
(b) Cache (i) Disk
() Interrupt I/O (iii) Printer

(d) Condition Code Register  (iv) ALU
@ () () (@
(A) (iv), (i), (i), (i)

B) (), @), (i) ()
© (), Gid), @), ()
(D) Gi), (i), Gv), () °

Which of the following places does not have a Rail Coa

(A) Kapurthala (B) Kolkata (C) Peram ai Bar

A tree 6 m tall casts a 4 m long shadow. At i1 casts\@50 m long
shadow. How long is the flag pole ?

(A) 75m (B) 100 m

IfB=2,H=8andCAB=6,then
(A) 31 (B) 30

e of"@) o

oée ine 2

present a character ?
(C) EBCDIC (D) GRAY

Which of the following are ty
(A) Instruction taking multipl
(B)  Highly pipelined

(C) Multiple register sets

(D) Both (B) and (C)

Which of the following codes needs 7 bit
(A) ASCH @B CLgl

Three partners A, B and C invest
have a profit of ¥ 549, then C
(A) %122 e
The main cause of acid rain (acid precipitation) is :

(A) SO, (B) NO, <y CH, (D) Al of these

00, ¥ 900 and ¥ 1200 respectively in a business. If they
e of profit is :
(C) T 244 (D) % 256

A tap can fill a tank in 16 minutes and another can empty it in 8 minutes. If the tank is
already half full and both the taps are opened together, the tank will be

(A) filled in 12 minutes (B) emptied in 12 minutes
(C) filled in 8 minutes (D) emptied in 8 minutes

TSD002414
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90. A number consists of two digits whose sum is 11. If 27 is added to the number, then the digits
change their places. What is the number ?

(A) 47 (B) 65 (C) 83 (D) 92

91. Two trains travel in opposite direction at 36 km/hr and 45 km/hr and a man sitting in
slower train passes the faster train in 8 seconds. The length of the faster train is :

(A) 80 m (B) 100 m (C) 120 m (D) 180 m

92. Which language has recently become the defacto standard for interfacing application program:
with relational database system ?

(A) Oracle (B) SQL (@)

93. Which of the following is not a characteristic of a
(A) tables (B)
(C) complex logical relationships

94. A hard disk becomes totally inaccessibl
(A) partition table
(C) route directory

95. In JAVA, Exceptions th;
(A) checked exceptt
(C) runtime exceptio

ed :
eptions

96. Data dictionary contains d

w;aé data stores (D) all of the above

(A) data structures (B) )
97. A car covers three successive 4 es at speed of 10 kmph, 20 kmph and 60 kmph
respectively. Its average speed o I distance is :
(A) 10 kmph (B) 420 k (C) 25 kmph (D) 30 kmph
98. To promote encapsul [AVA provides an access modifier of type :
(A) public private (C) protected (D) none of these
99. Moving “p ‘ ain memory to disk in computer terminology is called :

(A) schecii (B) caching (C) swapping (D) spooling

100. Programming in a language that actually controls the path of signals or data within the
computer is called :
(A) micro programming
(B) systems programming
(C) assembly language programming
(D) machine language programming

TSD002414
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Who gave the title of “Sardar” to Vallabhbhai Patel ?

(A) C. Rajagopalachari (B) Mahatma Gandhi
(C) Jawahar Lal Nehru (D) Dr. Rajendra Prasad
Error detection at the data link level is achieved by :

(A) Bit stuffing (B) Hamming codes

(C) Cyclic redundancy code (D) Equalization

Bug in computer terminology means

(A) alogical error in a programme

(B)  a difficult syntax error programme

(C)  documenting programmes using efficient docum
(D) alogical error in text

Which two files are used during operation of
(A) query language and utilities
(B) data manipulation language and query
(C) data dictionary and transaction log
(D) data dictionary and query la

[
o

view in PowerPoint

th in Sli

e
(3
The base of a rectangular solid is@ squard, and its height is twice its length. If its volume is

1024 cm?, then surface area of its iféurface is : -
(A) 560 cm? (B) 640 em? (C) 680 cm? (D) 720 cm?

Which of the following will
Presentation ?
(A) the ESC key (B)

ey (D) the mouse button

Page fault occurs when :
(A) the page is corrupted by a
(B) the page is in main memory
(C) the page is not in main memo
(D) one tries to divide a number by

e 2
I8
- a sphere are numerically the same, then its radius is :

If volume and surface area of
B) 2 (C) 3 (D) 4

(A) 1

300 grams of sugar solution has 40% sugar in it. How much sugar should be added to make
it 50% in the solution ? |

(A) 10 gm (B) 40 gm (C) 60 gm (D) 80 gm

The inter connectivity of computers to a common server within a small area is known as

(A) LAN (B) WAN
(©) Www (D) None of the above

TSD002414
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(B) Operating System
(C) Control system
(

25

The ratio of Meena’s age to the age of her mother is 3 : 8. The difference of their age is 35
years. The ratio of their age after 5 years will be :
(A) 7:12 (B) 5:12 (C) 38:43 (D) 42:47

Which one of the items given below is not an item of the Menu Bar in MS Word ?
(A) Root (B) Tools (C) View (D) Exit

The maximum strength of Lok Sabha is :
(A) 552 (B) 544
(C) 642 (D) None of

The simple interest is equal to compound interes
(A) rate is same '

(B) time is same

(C) interest is computed annually an
(D) none of the above

Indicate which one of the follo

(A) Application progra

D) Both (A) and (B

@he first day of his business. On every

is just double of that made on the
come is :

An enterprising business
subsequent day, he ear
previous day. On the 10t d

(A) T2° (B) (©) %10 (D) % 10?

log 16 i
If ——— =x, then value.of x is :

log 2 &
(A) 4 ‘ < 2 (D) 5

‘}Z_";,{('

Which comet appears every 76 years ?
(A) Hailey’s (B) Holme’s (C) Donati’s (D) Alpha Centauri

InJAVA, Automatic conversion from primitive typé to an object of the corresponding wrapper
class is called :
(A) coercing (B) casting (C) Dboxing (D) widening

A flip-flop circuit can be used for :
(A) counting (B) scaling (C) demodulation (D) both (A) and (B)

TSD002414
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Kernel is :

(A) considered as the critical part of the operating system.

(B)  the software which monitors the operating system.

(C) the set of primitive functions upon which the rest of operating system functions are
built-up.

(D) none of the above.

Which country is the winner of FIFA World Cup 2014 for Men ?

(A) Germany (B) Spain (C) Argentina (D) Brazil

The longest tape which can measure exactly the length i, 6 m 75 cm and o
4 m 50 cm is :

(A) 35cm (B) 75 cm ) 1 45 cm ‘

Almost every C program begins with the statement : 6

(A) main () B)

(C) #include<stdio.h> (D)

A car can finish a certain journey in r to cover the
same distance in 8 hours, the spee

(A) 6km/hr (B) 75 v 15 km/hr

bt of UQASE tool ?

by the operating system ?
Compilation (D) 1/0O operation

Which of the following mi
(A) programming code
(B) flow charts and data flo
(C) prototypes and cost/bene
(D) all of the above

Which of the following is a service not
(A) Protection (B) Accounti

Who among the following stood f@r total revolution in the country ?
(A) Jayaprakash Narayan = (B) Jyotiba Phule
(C) VEPiSingh W (D) Mahatma Gandhi

18 :

The eleventh part of

(A) 99.0 (B) 99.99 (©) 90 (D) 90.9

The main function of the dispatcher (the portion of the process scheduler) is :
(A) swapping a process to the disk

(B)  assigning ready process to the CPU

(C) suspending some of the processes when the CPU load is high

(D)  bring processes from the disk to the main memory

TSD002414
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The TCP/IP protocol used for transferring e-mail messages from one machine to another is :
(A). .- FIP (B) SNMP (C) SMTP (D) RPC

In OSI network architecture, the dialogue control and token management are responsibilities
of :
(A) session layer (B) network layer (C) transport layer (D) data link layer

Software cost increases because :
(A) each application will need the generation of new programs.

(B) purchasing of new equipment means that existi
modified or rewritten. :

(C) programming is labour intensive and there
new techniques

(D) all of the above

re will either have t

A merchant buys tea A @3 8 per kg an
and sells the mixture @ X 12 per kg. If
in the mixture is :
(A) 15:2

s of tea, he mixed
wo brands of tea

none of these

| retrieved in a :
ast ut (LIFO)

Lé ast In (LOLI)

at attributes are possessed by the data
all of the above

A stack is a linear dat
(A) Last Out First In
(C) First In First Out

The data dictionary tells th
(A) what files are in datab
(C) what these files contain

River flowing towards the West i

(A) Godavari (B) Krishn (C) Kaveri (D) Narmada
Which segment do eB&y;.ﬁ}énazon.com, Flipkart, Snapdeal belong ?

(A) B2Bs 4 @* B2Cs (C) C2Bs (D) C2Cs
Who was the first Indian born citizen to have won the Noble Prize for Peace ?

(A) Rabindranath Tagore (B) Mother Teresa

(C) Kailash Satyarthi (D) Amartya Sen

The first step in Systems Development Life Cycle is :
(A) database design

(B) system design

(C) preliminary investigation and analysis

(D) graphical user interface

TSD002414
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The most common use of the one-dimensional array in C is the :
(A) string (B) character (C) data (D) function

The secondary storage device that follows the sequential mode of access is :
(A) Optical Disk (B) Magnetic Disk (C) Magnetic Tape (D) None of these

il

The Central Processing Unit (CPU) consists of :
(A) input, output and processing

(B)  control unit, primary storage and secondary storage
(C)  control unit, arithmetic-logic unit and primary storage
(D)  control unit, processing and primary storage

Which of the following is the main factor of water pol
(A) Smoke (B) Industrial waste (C) Am Deter

; \of the,se

Find the probability of getting a head in a thr

(A) 5 B) 1

Who didn’t participate in the re
(A) Rani Lakshmibai
(C) Nana Saheb

Bulletin board system :
(A) is a public access messag
(B) is a modem capable of acc

(C) converts analog signals to d
(D) converts digital signals to ana

Who is regarded as the Father of comp ?
(A) Abascus (B) JohmNapie (C) Pascal (D) Charles Babbage
Structured programs do not
(A) Loops /
(C) DO-WHILE staten

(B) GOTO statements
(D) All of the above

G SR
Which of the folldﬁ’fﬁé is not a primitive data type in JAVA ?
(A) Dboolean (B) Dbyte (C) string (D) double

-00o0-
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